< Ntextrm{ch}>

Ratio to ATLAS

80

70

60

50

40

30

20

10

[EEY

0.5

13000 GeV pp Jets

| I T | T I T I T [ T T T | T T ]
- Average N A (ATLAS jet fragmentation) -
- . B
B B ATLAS -
—  —A— Pythia 6.428 370 =
— --8-- Pythia 6.428 391 —
B Pythia 6.428 default —
— % Pythia 6.428 pro-g2o0 —
:_ n u _:
| | | | | | | ' | I | | | | I_
: T T T T | T T T T | T 1 :
} - I \ E
|
[ B3 ___/q_g\ TR | -
o T g —
L ¥ |
. 1 . 1 . 1 . L . | | . . . .
0 1000 Qex?r

m{Jet
textrm{T} [G V]

Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


